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1. Find all a,b € C such that the matrix A is unitarily diagonalizable.

Answer: a = . b=

Solution :
Check A is normal matrix and use the Theroem 9.7.

Similar with example 6.
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2. Please provide (and explain) a square matrix A that A is diagonalizable but NOT unitarily
diagonalizable.

Solution :

example for Section 9.3 problem 19 (j).

3. Please provide (and explain) a square matrix B with all eigenvalues of algebraic multiplicity
1 and B is NOT unitarily diagonalizable.

Solution :

counterexample for Section 9.3 problem 19 (j).
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